ADVAL(0) performs two different functions. The
least significant two bits correspond to the fire
buttons on joystick 1 and joystick 2. X=ADVAL(0)
AND 3 will return a value of one if joystick 1’s fire
button is pressed. X=ADVAL(0) DIV 256 will give the
number of the channel that last completed an A-
to-D conversion.

As conversion of each analogue input channel
takes about 10 milliseconds, then to process each
of the four channels will take 40 milliseconds. In
our application we use channels 1 and 2 only.
We can cut down on wasted conversion time by
specifying the channels that require conversion.
This can be done by using *FX16,2, which enables
channels 1 and 2 but disables channels 3 and 4.

The following program combines all this
information to control a twin-motor Lego car.
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